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D)45 cm? @ 48cm? ® 52cm?®
@ 57cm3 ® 60cm?

(5% 3) x 3 =45(71)
1 x 45 = 45(cm?)
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O 7F=2 5cm, A2 5cem, 0] 5em ¢ ASHA
@ 7F2 9cm, A2 4cm, =°] 3cm QA ASHA
@7}1?._ 5.5cm, A2 6cm, =°] 4cm Q] 2-EHA
@ 7I2 4cm, A2 4cm, =°] 6cm Q 2S5 HA

® 712 12cm, A2 3cm, =°] 2.5cm Sl A-SHA

B

@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5%x 6 x4 =132(cm?)
@ 4x4x6=096(cm?)
® 12x3x2.5=90(cm?)
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(gl 2yol) =[ |x6= |(cm?)
’ -l §
> cm?

(B=EAS 2Hol) = (3 "o Wol) x6
(3x3)x6=9x6=54(cm?)
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Sem 3cm -ocm.

(1) (2 o])=5x 3 = 15(cm?)

(2) (8= (3+5+3+5) x5 =80(cm?)
(3) (B¥el)= (BWol)x2+ (FHel)

=15% 2+ 80 = 110( cm?)




